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RISE OF THE MODERN WEST
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Candidates showld answer in their own words

and adhere to the word limit as practicable. ) GG P/
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Answqr any fwo questions frum the following 5x2=10

Each answer has to be written within 250 words approximately

afeTre a1 (it 76 eraw Taa e | &ifSf @intg Sea 2 o I iy wid alzdy

1 Were the Levellers really democratic? ,
O

o=zl [ T seroifE fere ¢

2- What is meant by ‘Proto Industrialization’?
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3, Wbat du you mean by“ﬁie ‘Copemlcan Revolution’?
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Discuss the role of Puritanism in English Rev

g R s e e ST

lism.
tage of M crcam‘,l

Analyze the factors which set the s
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How far was Locke a radical thinker?
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Discuss the importance of the Commercial Revolution as a pre condition
industrialization,
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Answer any two questions from the following 12%2 =

Each answer has to be written within 600 words approximately
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Do you think that the iR century witnessed crisis in economic, social and
political dimensions? = e
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How did the British and the French reﬁlaéie‘: the Spanish from the leading
commercial powers in the 17" century Europe?
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‘Scientific Rev%lutlc?)'n”?
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How ° Revolutxonary was the
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